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PSYCHOLOGY
Paper-Ii

Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. Medulla and pons regulate 4. Match List — | with List — Il and select the
correct answer using the codes given
(A) Sleep and hunger below the list :
(B) Pain and pleasure List— | List— Il
a) Broca’s Area 1) Balance and
(C) Sleep and wakeful state motor
b) Wernick’s 2) Reading
(D) Emotions and motivation Area
c) Cerebellum  3) Language
production
2. Bottle neck theory explains the process of d) Angular gyrus 4) Language

comprehension
(A) Attention

Codes :
(B) Memory a b c d
(A) 1 3 2 4
(C) Pattern recognition (B) 3 4 1 2
(C) 2 3 4 1
(D) Problem solving (D) 3 2 1 4

5. A student who fails in the examination
consoles himself by stating that most of
his friend have also failed and he is not
the only one. He is probably using a
defense mechanism known as

(A) Sublimation
(C) Implicit memory (B) Regression

3. Visual sensory memory is referred to as
(A) lconic memory
(B) Echoic memory

(C) Rationalization

(D) Explicit memory
(D) Reaction formation

K-1514 © Paper II
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6. Which of the following terms is not an
example of a problem solving technique

(A) Functional fixedness
(B) Subgoals
(C) Brain storming

(D) Heuristics

7. Research shows that individuals with
Type ‘A’ personality are more prone to

(A) Extraversion

(B) Cardiac health problem
(C) Aphasia

(D) OCD

8. Technique that compares the observed
frequency with that of expected
frequency is called

(A) tTest
(B) z Test (zee test)
(C) Chi-square Test
(D) F Test

9. Plateau stage in learning indicates

(A) Gradual improvement in the
performance

(B) Gradual decrease in the
performance

(C) On set of fatigue

(D) Stagnation in the performance

Total Number of Pages : 24

10. Which of the following is the correct order
of the structures through which light
passes after entering the eye ?

(A) Pupil, cornea, lens, retina

(B) Pupil, lens, cornea, retina

(C) Cornea, retina, pupil, lens
)

(D) Cornea, pupil, lens, retina

11. Which one of the following sequence is
correct ?

(A) Evaluation, preparation, revision,
incubation, illumination

(B) Preparation, incubation,
illumination, evaluation, revision

(C) Incubation, preparation, evaluation,
illumination, revision

(D) illumination, incubation, preparation
revision, evaluation

12. Match List — | with List — Il and select the
correct answer using the codes given

below the list :
List—1 List—1I
a) Perceptual 1) Abstract
thinking
b) Conceptual 2) Insightful
thinking
c) Creative 3) Concrete
thinking
d) Reflective 4) Divergent
thinking
Codes :
a b c d
(A) 3 1 4 2
(B) 1 2 3 4
©) 2 1 4 3
(D) 3 4 1 2
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13. Which one of the following describe the
field of psychology best ?

(A) Perception, learning, memory
(B) Cognition, conation, affection
(C) Motivation, personality, learning

(D) Cognition, motivation, personality

14. Match List — | with List — Il and indicate
your answer using the codes given below

Total Number of Pages : 24

15. Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using codes given below :

Assertion (A) : According to Victor
Frankl, if people
choose to grow and
develop, the
challenge of the
unknown produce
anxiety.

Reason (R) : This anxiety can
lead to triumph and
self fulfillment.

Codes :

the list - (A) Both (A) and (R) are true (R) is the
correct explanation of (A)
ceg g (B) Both (A) and (R) are true (R) is not
List—1 List—1I the correct explanation of (A)
a) Osgood 1) Equal (C) (A)is true, but (R) is false
Appearing (D) (A)is false, but (R) is true
Interval Scale
. . 16. Match List — | with List — Il and select
b) Likert 2) Socio the correct answer using the codes
Economic given below the list :
Scale List—1 List -1l
C) Bogardus 3) Sematic a) Thurstone E. L. 1) Cross-cultural
_ _ perspective
Differential on anger
Scale (SES) b) Sternberg R. 2) Value
consensus
d) Kuppuswamy  4) Social and
Distance importance
c) Tanaka — 3) Primary
Scale Matisumi J. mentalability
d) Schwartz S. 4) Triarchic
. theory of
Codes : human
a b c d intelligence
(A) 2 1 3 4 Codes :
a b c d
(B) 3 1 4 2 (A) 4 3 > 1
(®)] 1 3 2 4 (B) 1 3 2 4
(C) 3 4 1 2
(D) 4 3 1 2 (D) 9 4 3 1
K-1514 @ Paper I
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17.

18.

Match List — | with List — Il and select
the correct answer using the codes
given below the list :

List—1 List —1I
a) Maier 1) Cultural
anthropologist
b) Margaret Mead 2) Studies on

frustration
c) Girishwar 3) Cross cultural
Misra studies
d) Durgananda 4) Studies on
Sinha poverty and
deprivation
Codes :
a b c d
(A) 3 2 1 4
(B) 4 3 2 1
(©) 1 2 4 3
(D) 2 1 4 3

Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : “This mango is sour
in taste. Therefore
all the mangoes in
the basket must be
sour too”. This is
generalization style
of thinking.

Reason (R) : Deductive
reasoning is a
process of drawing
conclusion about
specific from
universal.

Codes :

(A) Both (A)and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true ; (R) is not
the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A)is false, but (R) is true

Total Number of Pages : 24
19. Match List — | with List — Il and select the

correct answer using the codes given

below the list :

List—1 List—1I
a) Hebb 1) Superiority
complex
b) Adler 2) Nativistic
theory of
language
c) Noam Chomsky 3) Need
hierarchy
d) Moscow 4) Cell
assembly
Codes :
a b c d
(A) 4 3 1 2
(B) 1 3 2 4
©) 4 1 2 3
(D) 3 1 2 4

20. A person’s perception of how effective
a behaviour will be in any particular

circumstance is
(A) Self efficacy
(B) Self esteem
(C) Ideal self

(D) Self concept

K-1514
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21. Given below are two statements.
Assertion (A) and Reason (R). Select

your answer using codes given below :

Assertion (A) : Information is

transfered from STM

to LTM.

Reason (R) : Anitem’s serial
position influences
its recall in list
learning.

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A)and (R) are true ; (R), is not

the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

22. A need that involves a strong desire to
succeed in attaining goals, both realistic

ones and challenging ones is
(A) Homeostasis

(B) Need for power

(C) Need for achievement

(D) Need for affiliation

Total Number of Pages : 24

23. Match List — | with List — Il and indicate
your answers using the codes given

below the list :

List—1 List—1I

a) Controls 1) Pons
body balance

b) Maintains 2) Medulla
breathing

c) Coordinates 3) Reticular
the muscle formation
movement

d) Activates the
brain to produce

4) Cerebellum

arousal
Codes :
a b c d
(A) 1 3 2 4
(B) 4 1 3 2
(©) 3 2 1 4
(D) 4 2 1 3

24. Which of the following sequence is
correct ?

(A) Concrete operation, Sensory
motor, Formal operation, Pre
operation

(B) Pre operation, Concrete operation,
Formal operation, Sensory motor

(C) Concrete operation, Sensory motor,
Pre operation, Formal operation

(D) Sensory motor, Pre operation,
Concrete operation, Formal
operation

K-1514
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25. Which one of the following sequences
are correct ?

(A) Dendrite, Axon, Synaptic end
button, Soma

(B) Axon, Soma, Dendrite, Synaptic,
end button

(C) Dendrite, Soma, Axon, Synaptic
end button

(D) Soma, Dendrite, Axon, Synaptic
end brush

26. Which one of the following sequence is
correct ?

(A) Relapse, maintenance, imitation
and cessation

(B) Maintenance, relapse, cessation
and imitation

(C) Imitation, maintenance, cessation
and relapse

(D) Relapse, cessation, maintenance
and imitation

27. Match List — | with List — Il and indicate
your answers using the codes given
below the list :

Total Number of Pages : 24

28. Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Efficacy of a therapy
is assessed by
testing the
participants before
and after the
therapy

: Acorrected ‘t’ test
will inform whether
there is a significant
change in the
performance of a

group

Reason (R)

Codes :

(A) Both (A)and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A)and (R) are true ; (R) is not
the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A)is false, but (R) is true

29. Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :

List-1 List—1I . _ _
a) Repeated 1) Interaction Assertion (A) : Total variance
ANOVA offect observgd is sum of
b) Factorial 2) Pre Post true variance and
ANOVA Test error va.rle.mce.
¢) Multivariate 3) Data Reason (R) : Test yalldlty refers to
Statistics reduction consistency of test
d) Factor analysis 4) More than _ scores over time.
two DVs Codes :
(A) Both (A)and (R) are true and (R) is
Codes : the correct explanation of (A)
(A) ? g Z g (B) Both (A) and (R) are true ; but (R) is
(B) 4 2 1 3 not the correct explanation of (A)
(C) 2 1 4 3 (C) (A)is true, but (R) is false
(D) 3 2 1 4 (D) (A) s false, but (R) is true
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30. Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Personality traits
measured by 16 PF
are not orthogonal

Reason (R) : Cattell used oblique
rotation to identify
personality traits.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

31. Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Content validity is a
type of validity.

Reason (R) : Face validity is a true

measure of validity.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true ;(R) is not
the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A)is false, but (R) is true

Total Number of Pages : 24

32. Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Item discrimination
refers to percentage
of persons passing
the items

Reason (R) : Item analysis

includes
determining item
discrimination
index.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true ; and (R)
is not the correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A)is false, but (R) is true

33. Which one of the following sequence is
correct ?

(A) Norms, Item analysis, Iltem
selection and Validation

(B) ltem selection, Item analysis,
Validation and Norms

(C) Item analysis, Item selection,
Validation and Norms

(D) Validation, Norms, Item selection
and ltem analysis
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34. Which one of the following sequence is

correct ?

(A) Receptor, Action potential, Brain,

Effector

(B) Action potential, Brian, Receptor,

Effector

(C) Brain, Action potential, Effector,

Receptor

(D) Receptor, Effector, Action

Potential, Brain

35. Modification of cognitive structures the

result of experience is called
(A) Accommodation

(B) Assimilation

(C) Adaptation

(D) Association

36. Tolman’s major work includes the

following book
(A) Walden Two
(B) Conditional Reflexes and Psychiatry

(C) Purposive Behavior in Animals and

Men

(D) Social Learning and Imitation

Total Number of Pages : 24

37. Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :
Assertion (A) : The rate of bar

pressing by ratin a
Skinner’s box
increases when it is
followed by food

reward.

Reason (R) : Arespondent

behaviour is
strengthened if itis
followed by
reinforcement.

Codes :

(A) Both (A)and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A)and (R) are true ; but (R) is
not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

38. Prospective memory refers to
(A) Memory for action performed
(B) Memory for predicted events
(C) Memory of present experience

(D) Memory for things to be done

K-1514
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39. Which is the Brian centre for memory ?
(A) Medulla
(B) Hypothalamus
(C) Cerebellum

(D) Hippocampus

40. Match List — I with List — Il and select
the correct answers using the codes

given below the list :

List—1 List—1I

a) Retroactive 1) Not willing to
inhabitation retrieve
b) Proactive 2) Forgetting
inhabitation over time

c) Decay through 3) New learning

Total Number of Pages : 24
41. Match List — | with List — [l and select the

correct answers using the codes given
below the list :

List -1 List— 1l
a) Autistic thinking 1) Analytical
b) Creative thinking 2) Generalization
c) Logical thinking 3) Day dream
d) Inductive thinking 4) Divergent

Codes :
a b c d
(A) 1 4 3 2
(B) 3 1 4 2
(©) 2 3 1 4
(D) 3 4 1 2

42. Given below are two statements.
Assertion (A) and Reason (R). Select
your answer using codes given below :

Assertion (A) : Sores on a good

disuse interfering test do not change
with old over short duration.
Reason (R) : High correlation
d) Repression  4) Old learning between scores on
interfering with odd and even items
new of a test reflect high
test validity.
Codes : Codes :
a b c d (A) Both (A) and (R) are true and (R)
(A) 2 3 1 4 is the correct explanation of (A)
(B) 3 2 4 1 (B) Both (A) and (R) are true ;(R) is
not the correct explanation of (A)
(9] 3 4 2 1 _ _
(C) (A)is true, but (R) is false
D 4 3 1 2
(D) (D) (A)is false, but (R) is true
K-1514 Paper I
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(A) P<.05
(B) P <.01
(C) P <.001
(D) P <.10
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43. Which of the following sequence is

correct ?

(A) Memory, forgetting, learning

attention, perception

(B) Attention, perception, learning,
memory, forgetting

(C) Perception, attention, memory,

learning forgetting

(D) Learning, memory, forgetting,
attention, perception

44. PDP model is also called
(A) Connectionisim
(B) Associationism
(C) Structuralism

(D) Functionalism

45. Which of the following is the correct

sequence ?

(A) factor score, rotation, factors,

correlation matrics, interpretation

(B) correlation matrics, rotation,

factors, interpretation, factor score

(C) rotation, factors, correlation

matrics, factor score, interpretation

(D) correlation matrics, factors

rotation, interpretation, factor score

46.

Total Number of Pages : 24
Question No. 46 to 50 :

Read the following paragraph and
answer the five questions that follow :

Decision errors occur when the right
procedures bad to wrong decisions.
Decision errors may occur in hypothesis
testing as researchers make decisions
about populations based on information
in samples. The hypothesis- testing
process is set up to make-the
probability of decision errors as small
as possible. However, decision errors
are possible in spite of one’s best
intentions.

There are two kinds of decision errors
in hypothesis testing : Type | error and
Type Il error. Type | error occurs when
researcher concludes that the study
supports the research hypothesis
when in reality it is false. Even when
one sets up the probability at the
conventional significance levels Type |
error may still occur due to sampling
error. Researchers may not be able to
till when they make Type | errors, but
they can try to reduce that chance as
small as possible.

Type Il error operates in the opposite
direction of Type | error.

Researchers who do not want to
commit Type | error will fix significance
level alpha at

(A) P < .05
(B) P < .01
(C) P <.001
(D) P <.10
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47. Type Il error occurs when researcher

(A) Accept null hypothesis when it is
not true

(B) Reject null hypothesis when it is

true
(C) Employs a directional hypothesis

(D) Employs a nondirectional
hypothesis

48. Sitting stringent alpha level enhances the
probability of

(A) Type | error
(B) Type Il error
(C) Sampling error

(D) Statistical error

Total Number of Pages : 24

49. Situation where research hypothesis is
true and null hypothesis is rejected
leads to

(A) Type | error
(B) Type Il error
(C) Correct decision

(D) Inconclusive decision

50. Which one of the statements is NOT
correct

(A) Hypothesis is accepted/rejected
on the basis of probability

(B) Hypothesis states the relationship
between variables

(C) Hypothesis formation is a deductive
process

(D) Hypothesis formation is an inductive
process
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